EE 475 Fall 2007 Quiz #9
Name:





1. Which of the following most directly affects the settling time?

a. Real part of the dominant pole

b. Imaginary part of the dominant pole

c. Magnitude of the dominant pole

d. Angle of the dominant pole made with the negative real axis

2. Which of the above 4 choices most directly affects the percentage overshoot?

3. Which of the above 4 choices most directly affects the oscillation frequency?

4. Which of the above 4 choices most directly affects the rising time and delay time?

5. Mark true or false for the following:

 
Decreasing while keeping nconstant will increase the overshoot.


Increasing n while keeping constant will decrease the rise time.


Decreasing  while keeping nconstant will increase the settling time.

6. Given the following closed-loop prototype 2nd order systems.
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i. Which system has the shortest settling time?


ii. Which system has the longest settling time?


iii. Which system has the fastest oscillation?


iv. Which system has the largest overshoot?


v. Which system has the smallest overshoot?


vi. Which system has the fastest rising time?


vii. Which system has the slowest rising time?
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